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1. Who among the following opposed Gandhi’s Rowlatt

Satyagraha?

1) Surendranath Banerjee 2) SrinivasaSastri

3) Annie Beasant 4) Rajaji

&M H & uileor JeyevL- FHHWTH 5560
T &5 & 6ujseflev wimy?

1) &Gy Homrs urearjd 2) nhafleurs sravgif
3) sietrevfl QLIF6oTL 4) gremgd
a.1,2,3 b.3,4 c.2and 4 d. All

1) According to Gandhi, Education is an all-round
development of individuals body, mind and spirit
2) Gandhi opposed Varna System all throughout his
life
1) srhdHuiler sammiiul., SHevall er6arug (b
BLIfl6or
2160, WD WHMID Speluildr iemersgi
&mhmi
eUETJ&FSIWIMGLD
2) BMhH&) &0 Gl UMLDIHTET (L (LPEUGILD 6iJ65oT
SimLemL THFSHSHTT
a. Only I true
c. Both are true

b. Only Il true
d. None are true

Who among the following demanded complete
independence from British for the first time it 1921
Ahmedabad Congress Session?

1921 QD OB HWLHTUTSH SMHRISHFerv
MBI IG60 (PSHETUPSHDWITS I MiFlGeowflLLd
B®HI (W(POLOWTET &SHEHTLD CHTHWG] Wy?
a. Gandhi b. Nehru

c. Hasrat Mohan d. Periyar

Arrange in Chronological Order:

1) Motilal Nehru Report  2) ChampranSathyagraha
3) PoornaSwaraj 4) Poon Pact
STevaUflengLiLIg ¢ (LpMhI&MLO & &6|LD

1) Guomdleomev Gm(mH M &5

2) UMyese &&5SHWTH &L

3) Y,jeurmerveunme
4) Y,60TT epLILIHSLD
aa3412 b.2 134
c.2143 d2314

1) C.R. Das was popularity called as Deshbandhu

2) C.R. Das became the Mayor of Calcutta

3) C.R. Das started Swaraj Party along with Jawaharlal
Nehru

1) C.R.gmerv GGHeiUIhG) 6T6TMI SIEMLN&SLILIL LT

2) C.R.&m610 8605 &G GLOWIFTEOTITI

3) C.R. gmerv @euamiyeumev G (I, 6y L 60T

B emerurih g
avaITy &L Semw s QgL rilermy

a. 1, 2 correct b. 2, 3 correct

c. 1, 3 correct d. All are correct

Which of the following activities were not related to
communalism?

a. Hindu Mahasabha
Movement

c. Naokali Incident d. VaikomSathyagraha
NereupLd Qgweour(® &eaflev erg)

b. Quit India

QUGLLITSHSHGIL 6T QHTLFLOL WG| 160602
a. @hgl LoSTFamL

b. QeusitemenwiGenr QeuefGum| @uwissLb

c. Crr&med FLOLIOULD

d. MmUSHSLD FHHWNHFHLD

a.l1,2 b.3,4 c.2,34 d. All

Who among the following leaders were related to
Chittagong Armoury Raid?

a. Suryasen b. Bhagath Singh

c. Vanchinathan d. RamprasadBismil
LeTeu(hHLd &6m6veufa&HefleL WMy HIL_L ST
W HSFLMIG C&mHemeuileL

QeMLIL6mL WEUTS6T ?
a. & JuwQgeor b. usS &

C. 6UIT(ehFNHIT 60T d. gmrilyErs NevLbled
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8.

10.

11.

Who among the following were communist during
British India?

Lil6dT 62 (1 61 60T UMD M 6L WIMTF LN Ig.609
@nHwreailer Curg soul eflavLms

Q@HBTYS 6T

1) M.N.Roy 2) Singaravelar

3) Nehru 4) Gandhi

a.l 2 b.1,2,3 c.3,4 d. All

“Political Freedom was meaningless without economic
freedom”

Who said the above statement

"QUTHETTSTY &FSHHETLD GELEVTLO6L 3 F&H WL
&SHITD SATSSLOMHM )"

GLoGev QFT6HT6I Fo. MM WITIT C1& IT60T 6015l

a. Gandhi  b. Nehru c. Bose d. Rajaji

1) All India Trade Union Congress Session was headed
by LalalLajpatRai

2) India’s First trade Union was conducted in Madras
by BP Wadia

1) 1dl6v @il QAHTHIMHEMHIS &TRIH TV
Fal L SHHMG 6vmeor eoBLH JTI &6MEV6HLD
ST 6Ty

2) @b Hwmeiler (LpGHeL QASMHIMHEFMmISLD L
QUITIGWIMTEUMEL Q& 6HTmeTUll60 HL SSHLILIL LG

a. Only I true b. Only Il true

c. Both are true d. None are true

Which of the following were present in Simon
Commission Report?

a. Establishment of Responsible Government
b. Reservation for Depressed Classes
(BTDHHIII_GLTH6T)

c.Complete Freedom d.land?2

12.

13.

14.

MELOET &LO1660T M) & 655 UTl6L

111637 611 (T 621 69T 61 D 11 6L 6T 6TI6U B\ (H1H & 60T

a. QUITMILILITET PEFMHISESHMS HMI6s 60

b. HMPSHSHLILILL 6u@LILN60T (55 Smeor QL
28686

C. (Lp(LPEOLOWIMEDT & &HSTLD d.1land 2
Who started a movement called KhudaiKhidmatgar?
a. NawabSalimullah b. Khan Abdul Ghaffar

Khan
¢. Maulana Azad d. Gandhi

GBS HHLOG S 6T6iTM QWSS EME
Qg ILmu&lweur wiry?
a. HeUL &eOl(LPELELITD. &HTEIT JILIGIEL SUIT &IT6oT

C. Qereormenm 94,87  d. HMHIH

Arranged in Chronological Order:

1) Irwin — Gandhi Pact

2) Second Round Table Conference

3) HarijanCompaign

4) Quit India Movement

SmeveuflengLiLig MO SLILILL §:

1) @jelsir - HbE @ULHSLD

2) @y meug) euL L Goeng mhr(h
3) amf@ett NF&FFTHLD

4) QeuetememwiGerr QleuefGIM| @uis &L

a.2134 b.4 312
c.1234 d1 243

1) Patel headed the 1931 Karachi Congress Session

2) Patel is called Father of Indian Civil Service

3) He served as Home Minister in Nehru’s Cabinet

1) 1931 spr&& srmu&lyeav MHILIgMEG UL GCL 6L
&EMELENLD ST G

2) uGL6L @hHw Halled FFalerdler §bhems 6r6rm)
ML & & LLG STy

3) Cr(maile SIeMEFFTMeUUTEL 2 61TFImM

SIMEFTTSL
u6woflwl i nf) 6oT Iy
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15.

16.

17.

18.

a. 1, 2 correct b. 2, 3 correct

c. 1, 3 correct d. All are correct

1) Satyamurthy formed Madras Swaraj Party

2) Satyamurthy was political Guru of Gandhi

3) Gandhi started Harijan Newspaper in 1933

1) e58wepisHE QL Fmerv aveurmD &L enwl
2_(Ih6UIT& STy

2) 858l ySE SMHEUTET TS WL &

3) &M 1933 6L Ml 6iT Q&UIH S ST D61 S
Qg L&y

a. 1, 2 correct

c. 1, 3 correct

b. 2, 3 correct
d. All are correct

Choose the incorrect statement
1) Forward Block - Bose
2) Do or Die

3) Divide and Quit - Azad
SHUMTET HM&MS&MWS C&TH0S([H & &6 LD

- Gandhi

1) curgeug(® MNenms - Gumerv
2) Q&I 31606V G| AIFHFIL0 - BMHY)
3) Nifl bHMIL e Heail®h - QY EMH
a. 1,2 b. Only 3 c.2,3 d.1,3
1) Cabinet Commission accepted Pakistan demand

2) Pakistan name was coined by Abdul Kalam Azad
1) ur&lervgmefle C&mifl&emn &Ml HLDFSFM6U
JMHMI&C&TeoTL G
2) uT&leroGITeiT QLGN SILIGI6VL &6VITLD &S
2 _(Heum&&lermy
a. Only I true
c. Both are true

b. Only Il true
d. None are true

Who among the following leaders participated in
Individual Satyagraha

ELp& &L emevalfsafled wimy geflmpuy
FSHTHTEHSHH60 &601HG| €18 TevorL 6Ty

1) Nehru 2) VinobaBhave
3) Periyar 4) Bose
a. 1,2 b.2,3 c.1,3 d.3,4

19.

20.

21.

22.

Which of the following phase were called Extreme
Communalism in India?

LetTeu(mLd 6TH&S &L LMiseT @ibHwimailey Haily
QUGLILEUTSLD 6T6HTM] 1ML & &LILIH Hl6iTmenr 2

a. 1905-1919 b. 1919-1927
c. 1885-1905 d. 1937-1948
Who was called Kerala Gandhi?

a. Abdul Ghaffar Khan b. Kelappan

c. Periyar d. VinobaBhave

GCayen &MhH) eTedrm| I6MLP& SLILIL L 6ul W2

a. SIUGIeL UMY HmedT b, GaHeaTLILIeo

c. Qulwimriy d.
afGermumurGeu

Which of the following region was attacked by Pashtun
tribes from Pakistan?

a. Hyderabad b. Junagadh

c. Kashmir d. Punjab

unrsHevgreners G&ijnhg L6 ® 6o
ULp MG IquNlermeL LetTeu(hHLD 6THGLI LIG S

STHSLLLL G|

a. MUDGHITUTS b. ZoaINs S
c. smagLiy d. uEpamL

1) Gandhi accepted India-Pakistan Partition

wholeheartedly
2) Gandhi spent his days in Kolkatta during 1947
August 15 Independence Day
3) Rajaji was the Governor General after India got
independence
1) srhd @nhHwr-urHerogmer LNflallemeorsmul
ew
LOGUT GIL_60T 6] (DM % G & T 6Bor LTI}
2) &hd S6vTgl HTL&EME 1947 34 &6rVL 15
G BHSHT
Hears et GUITG QA&TL&SGTall6L &GS
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23.

24,

25.

26.

3) @hHw &HHATD SenLhS LIME Jrmei)
S QARETTeLNSH QBHST

a.l 2 b.Only 2 c.2,3 d. Only 3

Which of the following round table conference were
conducted during conservative party in Britain?
AL Leflev &er&Caulgeu &L Suileir GUTE)
BLSSHULLL euL L GCLoen& mbr(® erg)?

a. First b. Second c. Third d. Fourth

1) Muslim League Party participated in Constituent
Assembly later

2) Muslim League Party was started in 1906

3) RSS was started in 1925

1) etreory QF&wev Hlijevort Femuuilev (LpervediLd
608 &L 8 uniCasnme|

2) (WereSid 658 &1L_8 1906 @61 QFHTLMISLILLL 5]

3) ShTETENVETENL 1925 Q6L CIGTL RIS LILILL G

a. 1, 2 correct b. 2, 3 correct

c. 1, 3 correct d. All are correct

Which of the following were the reason for India
getting Independence?

1) America threw Atom bomb on Japan

2) Formation of United Nations.

3) Gandhi and Bose Movements

4) Fall of British Government
etTeu i eueeumilev 618 @HHWT &GbHEFLD
QUM SMy6EOTLD?

1) guumedr 155 JQHSST 160 6T0T6mL
afflwug

2) &S BITH & 6T FenLIUN6T 2 (HeuTSH&LD.
3) &nh&) LMHMILD CUTENO @IS & i el

4) N1 610 SI7H6iT afipss
a.1,2,3 b. 1,34 c.1,24 d. All
3 years ago Aman was thrice as old as Akash. If

he ratio of their present ages is 9 : 4 respectively,

217.

28.

what is the difference between their present ages
in years?

3 SeHEHELHE (W6TY Sl sTmeae el
CLp6ITmI LOL_RI@ 6ULLIG TEUT6UI. 316Uy & efletr
SHCUTMG W euwiFleir aNFGLD (LPeHMG 9 : 4 6T6dfl6L,
Slujsefle HHCUTMSW eUWGISGLD 2y 6501 (hS6fled
2_6itenm NG SIITFLD 6T 6376012

a. 12 years b. 10 years
c. 18years d. 15years e.None
The ratio of the present ages of Ajay and Vijay is

3 : 7 respectively. Six years ago, the respective
ratio of their ages was 1 : 5. What will be the
respective ratio of their ages after eight years?

AW wHMIWL eNQuuller FHCUTMSW  euWIF)
allH gL (PMGCW 3 : 7 QY GLD. SpMI 4,650 (H & EHSHS
wery, seupseflen euwg eNHlgw 1 : 5 aL@
2AGNBHEHSHGU MG aujseflen euwg allflgd

6T6OTGUTEUM S @)(Ih & (FLD?

a. 13:14 b. 17:11

c. 17:29 d. 16:15 e.None
Abhay’s age after six years will be three — seventh

of his father’s age. Ten years ago, the ratio of their
ages was 1 : 5. What is Abhay’s father’s age at
present?

M AENHHEERGGU UG Suulle ewg)
UG SHhemHulledt euwSleL CPETMI - FLOMeUG)
WGl UHGH CUBLMISEHEE W6T, Iieujserfler
awgl elldgw 1 : 5. sHCungl SiNufler &rbeng uilesr
6ULLIG)| 6T 60T 6012
a. 50 years
c. 43 years

b. 45 years

d. 37 years e.None
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29.

30.

31.

Present, ages of Sameer and Anand are in the ratio
of 5 : 4 respectively. Three years hence, the ratio
of their ages will become 11 : 9 respectively. What
is Anand’s present age in years?

SHCurg), &85 HMID peTHHT WG (WemmGW
5 : 4 eaeam elHH5H0 2 6Tang. OGTMI
24,6001 (B & 6rfleL, 16U s efletn euwig aNdlHLd (WeMHGW
11 : 9 &4,5 WM. JATHH T HHCUTMSHW UG
6T 60T 6012

a. 24 b. 27
d. Cannot be determined

c. 40
e.None of these

Six years ago, the ratio of the ages of Kunal and
Sagar was 6 : 5. Four years hence, the ratio of their
ages will be 11 :
present?

UM SHEOIGHELHES (W6,  (G6UITeL  LHMILD
gnsfleit euwigl eflHGLd 6 : 5. 6N 2600 (H &eflev,
10 94,5 Q& GLD.

10. What is Sagar’s age at

Sujsefler auwg eNdgw 11 :
SHCUNTZ) FTSH6T QWIS 6T60T60T?
a. 16 years

b.18 years  ¢.20 years

d. Cannot be determined e.None of these

A person’s present age is two-fifth of the age of
his mother. After 8 years, he will be one-half of
the age of his mother. How old is the mother at
present?

@@ Bufldr §HCUTMSW UG eurg Fruiler
awgled BHHL QreanE UhG. 8 2006 SEHSGL
Um@. S6uj gergl Fruiler euwdlev spp uTHwns
A@UUTy. HHCUTE DLOTEIIEH WG] 6T6oT6wr 2

32.

33.

34.

a.32 years
d.48 years

b.36 years
e.None of these

c.40 years

The difference between the ages of two persons is
(10 years) Fifteen years ago, the elder one was
twice as old as the younger one. The present age
of the elder person is :

Queon@  pugseflst g elHwrsd

OB &) LHMOHG ABNGHEHHEG (6L,
Wy @Qemerweusmy el Qo LOLMKIG

(10

auwgmereu. Quilweaifer HCUTMSW eUIG):
a. 25years b.
c. 45 years d.

35 years
55 years

The sum of the present ages of Varun and Kapil is
42 yrs. The ratio of their ages after 5 yr will be 15
: 11. What is the present age of Kapil?

QU 6ver LoHMILD SNV HHCUTM W 61w G) 8 erflest
ol H5AsTMS 42 Y (BS6T. 5 60 (H S EHSHGLI
m@ sleujseaflein euwigl elHg 15 : 11. suilevflesr
SHCUTEMG LI IS 6T 6016012
a. 17yr b.
c. 25yr d.

24 yr
22 yr

At present Meena is eight times her daughter’s
age. 8 yr from now, the ratio of the ages of Meena
and her daughter will be 10 : 3, respectively. What
is Meena’s present age?

&HCung WBerm Gerg waeflar auwemg ol (b
LKIG AHSW. 8 YanGsHEpsGU D@, Werm
LHMID ieung Waeflar euwg g WammGw
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35.

36.

37.

10 : 3 545 @& G L. Bsmallsr HCUTMSW aIwIZ)
6T 60T 6017

a.32 yrs b.40 yrs c.36 yrs
d.Cannot be determined e.None of the above

The average age of a man and his son is 27 yr. The
ratio of their ages is 8 : 1 respectively. What will
be the son’s age after 6 yr?

@ ([ 4,600 LOMHMILD 16uT§) Lo&6eufler FYMEH euwigl 27
24,6501 (1 &611. 16U J&earfledr euwg) aNHHLO (PG 8
1 9BW. 6 HETEHELEGU NDG Wl aiwg)
6T 6076017

a.6 yr b.14 yr c.12 yr
d.8 yr e.None of the above
The difference between the ages of Meena and

Seema is 3 yr and the ratio between their ages is 7
: 8. What is the sum of their ages?
Beorm wOHMID Forallsr awg eoNHwrsnd 3

ApuBHeT  WLOHMID  ufsefllet WSS
AQemLufleomssr elldlgw 7 8. geufsefler
6L G) 566 Fal_ (5 §CSHT6M S 6T 60T 60T

a.43 yr b.41 yr c.45yr
d.48 yr e 47 yr

At present, the ratio of the ages of Maya and

Chhaya is 6 : 5 and fifteen years from now, the
ratio will get changed to 9 : 8 Maya’s present age
IS

SHCGUTG|, MU MM Fmuraller awg all&lg
6 : 5 &, uSHmarhgl 60 [HSEHSHGU UIMG,
wmurellar §HCUTMSW euwg aNHHw 9 : 8 46
wrHmLUL@GLD.

38.

39.

b. 24yr
d. 40yr

a. 21yr
c. 30yr

At present, Kavitha is twice Sarita’s age. 8 yr
hence, the respective ratio between Kavita’s and
Sarita’s ages will be 22:13. What is Kavita’s
present age?

SHGurg seallgnaysE sflgrailar auwamg eail
Qe WLMIEG AHSHSID. 8 60T (H &6 86, HalgT
Hmib  sflgrallsdt W HSHG @QLCW 2 eTen

allflgd  22:13 945 QOm&HEGWL. sealgrailer
SHCUTEMS LI IS 6T 6076012

a.26 yr b.18 yr c.42 yr
d.36 yr e.None of the above

The present age of Ravi’s father is four times
Ravi’s present age. Five years back, Ravi’s father
was seven times as old as Ravi was at that time.
What is the present age of Ravi’s father?

gailluiler shenguilst HHCUTMSW euwg Jailufler
SHGUTMGIW euweng ailL [HT6N (G LLMHIEG SiFH L.
2B UGLRSESE W6, railulldar 5HmssE
LGUTEG QWHS Tellulledr awg gl WLLREG
agHsw. gailuiler suurallet FHCUTMSHW eIWIG)

6T 60T 6012
a. 84yr b. 70 yr
c. 40yr d. 35 yr
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40. Four years ago, Shyam’s age was % times of that LOL_MI(G AH &5 A®&GLD. eiQuITLA) 65T
of Ram. Four years hence, Shyam’s age will be SHCUTENG LI LIS 67616012
5/6 times that of Ram. What is the present age of a.15yr b.20 yr c.16 yr
Shyam? d.24 yr e.8yr

BTG ENGESHEHHES (PTY, eQuImLBle euwg)
grifler euweng il Ya LMIG AHSLWD. HT6TS
QUBLMISET 58, 6Qumie euwg pren el 5/6

No-43, Jumancentre, Promonade road, (Opposite BSNL Office), Cantonment, Trichy - 620 001
Contact - 94438 44441




TRICHY RACE ACADEMY

COACHING FOR TNPSC/BANK/SSC/RRB/TET

10.

11.

12.

13.

14.

15.

16.

17.
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19.

20.

21.
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29.
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